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UNIT 5 - Revision test

How do you say “river” in Czech?

My brother is 15 years old.
He is too old to have a driving licence.
He is not old enough to have a driving licence.

My friend is 14 years old, I am 16 years old.
I am older than my friend.
I am younger than my friend.

In a waterfall
there is a lot of fresh water.
there is a lot of salty water.

Which sentence is correct?
She is smart enough to pass the test.
She is enough smart to pass the test.

How do you say “expensive” in Czech?

Cars are
more expensive than riding a bike.
as expensive as riding a bike.

What is correct?
Both trains and planes are fast.
Both trains and planes move in water.

How do you say “comfortable” in Czech?

Vans move

in water
on the road



